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1. A crocodile lays 12 eggs in her nest, the zoo keeper
takes 5. How many eggs are left in the nest?.............

2. Crocodiles are semi-aquatic animals, but spend most
of their time in water. Up to 80% of the enclosure can
be water. Shade 80% of the grid below:

3. There are 30 crocodile keyrings in the box. Zoey
takes 6, Paul takes 4 and Andrew takes 2. How many
keyrings are left in the boX?....cccccmmcmmsnmssnmssnnssnnssnnnnnnsas

4. There are two female crocodiles in an enclosure.
One lays 26 eggs the other lays 38. How many eggs are
there in total?....ccccciimeimmnmmsnsmmsnsssssssansssnnsnnnnsnannnnnnsnnannnnnns

5. A zo0 keeper has 20 crocodile hatchings. He sends
20% to another zoo and releases another 20% into the
wild. How many hatchlings does he have left?................
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7. There is a mixture of female and male crocodiles in

a stretch of river to the ratio 3:1. There are 4 males,
how many females are there?.....ccccuecrmsnnsssnssssnsssassssansnsas

8. Example: 25% of a Cuban crocodile enclosure is land.
Shade 25% of the grid below:

9. As their name suggests the green tree python
spends a lot of time in trees. So which enclosure shape
would be better suited to them?




